DIAMONDS DATASET
Estimating Price by Carat
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Which diamonds in the dataset provide the worst / best value based on their carat?
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ID Carat Estimate Price Diff. ID Carat Estimate Price Diff.
27636 1.04 $5810 $18542 -12732 27416 5.01 $36603 $18018 +18585
27531 1.07 $6043 $18279 -12236 16284 3.00 $21013 $6512 +14501
27458 1.07 $6043 $18114 -12071 23645 3.65 $26054 $11668 +14386
27508 1.09 $6198 $18231 -12033 27631 450 $32647 $18531 +14116
27350 1.07 $6043 $17909 -11866 25999 4.01 $28847 $15223 +13624




